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Section A {30 x 2 marks = 60 marks)

For eachquestion from 1 to 30, four options are given. One of them is the correct-
answer Make your choice (1, 2, 3 or 4). Shade the con'ect oval (1, 2, 3 or 4)on the
Optical Answer Sheet provided. -

- A cockroach was placed in a tightly-sealed container for three hours as shown in
the diagram below.

-tightly-sealed container

- Which one of the following graphs showed the changes in the amount of carbon
dioxideand oxygen in the containerat the end of the three h0urs?
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The diagram below shows five different flowers, A, B:C, Dand E. -

Flower A " . Flawer B “Flower C - FlowerD Flower E

Based an the observatlon of the reproductive parts only, wh:ch of the followmg
flowers are likely to be wind-pollinated? L

(1) AandConly 2y B and E oniy
(3)  A,B,CandE only RG) ABCDandE

Dunng inhalation, the diaphragm, ribcage and chest cav;ty move m order to take
in more air. »

Which orie of the followmg comectly shows the movement of these parts during
inhalation?

Diaphragm ) Ribcage " Chest cavity
(1) Upwards. - Inward Contracts
(2) - _Upwards A . Quiward ' Expands -
(3) _Downwards - - Inward Contracts
(4) Downwards Ouiward . | - Expands



Refer fo tie foliowing experimental set-up to answer Questiohs 21 and 5.

Terryaet up an emﬂrlment using two similar hydnlla plants He placed ong in a beaker -
of clear pond water-and the other in a.beaker of muddy pond water and left both in the
sun. He inverted a funael and a test-tube: filled with water over each plant and measurec
the amount of gas colleéted in the inverted tesf-tube after three minutes.

1= i “HH ==l cearpond | muddy pond
"y water water
= hydrilla =] hydrilfa
4. What was the aim of his experii'nent?

(1) He wanted to find out if oxygen was produced during photosynthesus
(2) Hewanted to find out if muddy water affected the amount of dissofved

- airin the water.
{3) He wanted to find out if the clanty of waler affected the rate of

photosynthesis.
(4) He wanted to find out if the amount of carbon d lomde in the water affected

the rate of photosynthesis.




5.

Terry counted the number of bubbles produced in Set-up A over a period 6f
three minutes and plolted a graph as shown befow. SN

M
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Which graph showed the number of bubb!es produced in Set-up B over a
period of three minutes?
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Kim conducted an experiment using two simitar plants. She watered plant A daily
but feft plant B without water for a week. After a week, the plants appeared as
shown below. T - |

watered
plant

wilfing

plant A plant B

She then obtained a cefl from each plant and observed them under a microscope.

AV S IOE 1
T2

Which of the following statements correctly explained where the cells were taken
from?

A Cell X was taken from plant B as the vacuole was now filled with air.

B-  Cell X was taken from plant A as the vacuole was filled with cefl sap.

C Cell Y was taken from plant A as more water had éntered and filled the
edge of the cell. - o ' o

D Cell Y was taken from plant B as'it had an irregular shape since the plant

had wilted.
(1) AandC () AandD
(3) BandC 4 BandD




7

The diagram below shows the stages of growth in a bean.

. shoot
seed leaf
roof

siage A stage B stage C stage D stage E

Which of the foilowing statements about germination of the bean is incorrect?

A

. B

C

(1
3

Water is not required at stages A and B.
The seed leaves are still needed at stageC.
The bean needs light fOr growth at all the stages except stage A

AandB
Band C.

Aand C
A, Band C

The diagram below shows the cross section of a stem Xand Y are tubes found

{1)
(2
3

@

_in plant stems.

. Which onie of the following comparisons about fubes X and Y is true?

. Tube X . Tube Y
transporls sugar transports water and mmeral salis

transports water transports starch _
resent in aquatic plants not present in aquatic plants -

‘transports substances from the
roots .

‘transports substances from the.

leaves .




g. Devi recorded the different organisms she saw in her school pond and presented
her findings in the table as shown below

—

Plan&s “Animals . Ofhiers
cattail ~ filapia algae
hydrilla fadpole : '
water lily wriggler
water moss fern mosquito
: dragonfly
pondskater
great diving beetle

-10. Based on the findings, Whidl of the foliowing statements are incorrect?

A
B
C

(1)
{3)

There are three communities in her school pond.

There are four plant populations in her school.pond.

Algae is notinterdependent on the other organisms as it is neither an
animal nor a plant.

Aand B (2) AandGC
BandC ) (4) BandD

Alice studied the population of grasshoppers in a‘ﬁe_ld over a few months and
noticed that the number of grasshoppers decreased. '

Which of the following could have caused the decrease in the populatton size of

the grasshoppers?

A There were more deaths than births. )
- B The plants in the field were infected with a dlsease

C - Anew bird species was infroduced into. the field.

D - There were too-many competitors for the sa_m_e food.

(1) A.BandC ‘_ @ .ACandD .

{3}

B,Cand D : (4 A.B,CandD




1.

12.

The food chain below shows the-relationship between three orgamsms inthe
African grassfand

Whlch

grasé ~— zebra — cheetah

one of the following lines shows the change in the population of zebras if

the cheetahs are completely removed from the grassland?

Pt 159
F, - -.-‘

T (1)

3

4
“—;.Time

The food web below shows the relationship between organisms A, B, C, D, E,F

and G.

D
F 'l
» G

Based on the mformatlon from the food web which-of the followmg statements_
are correct? . . :

Ther_e are two herbivores in the food web.
Organism B is both a prey and a predator.
Organism E gets all its energy from organism F.
There'is ‘only one food produoer in the food web.

AandC 2 BandD

A.BandC - (4 B,CandD

B



13.

14.

Study the graph shown.beiow. : - . -

(1)
2

(3

4

Population A . | - -
Size

[
1]
- 6 Time {months )

e —
1t 2 3 4 5

What is the relationship between population X and popuation Y? .

Xis the prey and Y is the predator.
X is the predator and Y is the prey.
X and Y have-a common predator.
X and Y are competing for the same food

The diagram below shows some water hyacinth plants.

They are one'of the fastest grovs}ing p[aints and if dn(:ontrolled. can often cover -
the 'entire surfaces of pond's' and lakes.

‘Which of the followmg are llkely to happen as: a result of the water hyacmth

plants growlng uncontrollably”

Aquahc animals. have an abundant supply of food -

Aquatic animals are unable to seek shelter and protection

The fully submerged plants-are unable to photosyntl‘m:se and die
The amount of dtssoived oxygen m the water is mcreased greatly

AandC. S o (2) AandD
Band C . ' : 4 BandD

10




“15.

A - Soil A 1 . SoilB __SoilC
(1) - plant X - plantY . plantZ
(2) ~__plantX . . plantZ plant Y .
(3) ©_plantyY plant X -~ plantZ -
4) . plantY 1. plantZ plant X

Megan set up an experiment to find out which type of soil was suitable fog -
growing 3 different plants. - -
Plant X — naturally found in the désert

Plant Y — naturally found in the garden

Plant Z —'naturally found in waterlogged area

She lined 3 funnels with filtler paper and poured the same amount of soil (soit A,
8 and C) into each funnel. She then poured 50 rnl of water into each funnel and
recorded the volume of water collected in each measuring cylinder after 5
minutes.

. N
Soll A —3 Soii B - Soll C =

measuring measuring measuring
cylinder ] cylindet ™| cylinder ]

" The table be!ow shows the results Megan obtained.

_ . Soil A Soil B SoilC
Volume of water . 23ml 46 mi - 5ml
collectet__i ' .

Which one of fhe 'f‘oljoﬁri_nQ correctly matches. the plants to their suitable sail?




16.  Study the concept map carefully.

eaten b :
) Animals i< y Plants
F W%
- die -
die absorbed by
Dead matter
- _ X
decomposed by
produce
A
What do the lefters A and X represent?
A .‘ X
(1) ____magget, millipede, vulture fertilizer
(2} earthworm, cenfipede, bread mould carbon dioxide
(3) bracket fungus; toadstool, bacterium . minerat salts
(4) water

rhinoceros beetle, {emmite, woodlouse

e

17.  Which of the following parts of the body directly make up the digestive system?

Heart

Stomach
Windpipe _
Large intestines

A and B oly
B, C and D only

(2) . Band D only
4 A, Band D only




. 18.  The diagram below shows the paris of a flower.

- . B

At which part of the flower do the processes of pollination and fertifisation oceur?

Pollination Fertilisation -
(1) ' A C
) B - C
(3) B. D
(4) C. E



19. The following diagrams show a newly designed cup as compared.to a fypical cup.
The newly designed cup has a thicker layer of glass as compared to the typical

cup. -
7 cm . 7cm .
] thin layer
thick layer % of glass
of glass—

Al rie_wl.ykde'signed glasscup B typiagl gla'eé- cup
John poured coffee at 80°C into both the cups and left them to cool in a room

Which one of the following graphs correctly shows how the temperature of the
coffee changes with tlme in each of the cups?

(1) Temperature (°C) {2) Temperature (°C)

A

80

L.
Ca

e
C4

-0 Time {minutes) 0 . -
: Time (minutes)
@ . , N
Temperature (°C) (4) Temperature (°C)
S -_ . A )
80 . 80 : .
8 ‘ B
A )
- > 0 T
0 Time (mmutes) _ . - Time (m:.n‘utes]_




20.

Four containers of water, W, X, Y and z, were placed at different locations under
different conditions. The graph below showed how the volume of water changed
with time.

Volume of water {ml)

> Durdtion by

Jirnmy studied the graph and gave the possible reésons to explain the. difference
in the time taken for all the water to evaporate under the different oondnt:ons

The amount of liquid in W is lesser than the liquid in X at the start.
The temperature of the surroundings in X is higher than that of Z
The humidily level of the surrounding in Y is higher than that in Z-
The exposed surface area of the liquid in Z is smaller than that of Y

oOom>

) Whlch of the statements made by Jlmmy are possible explanations for the graphr

above?

{1) A and B only ' (2) AandDonly

(3) Band Conly ~ 4) B and D only



21.  Jim conducted an experiment by measuring the time taken for ice to melt
completely. Then he repeated his experiment by adding different amounts of salt
to the ice and measured the time taken for the ice to melt comipletely. He

‘recorded the details and results of his ekpenment in the table below.

Which one of the following statements best describes the outcome of the

experiment?-

Amountofsalt | Time taken for the
({teaspoon) ice to melt
_ (seconds)
Cup A 0 400
Cup B 1 300 .
Cup C -2 200
Cup D 3 100.

(1}  Adding salt has no.effect on the rate at which ice melis.
(2) When more salt is added, the ice takes a longer time to melt.

(3) The ice in cup D.took the shortest ime to melt as it has the most

salt.

(4) ' The ice will Qniy melt faster when the 3rd teaspoon of salt is

added

16




Dennis setup an experimeni as shown below..

fr o o e ]

votom{

S#mﬂau:ama&n%s of water were poured into the 4 containers. The surface’ areas of
the openinigs, a, as well as the surface-area of the water, b, in each contginer.’

- were measired and recorded as shown in the table below. The- -confainers. were

placed in the same room under similar condatlons for 1 hour.

" Surface area

Container a(cm?) b {cm?)
w 25 20
X 10 - 17
Y - 20 16
Z 8 48 7

VoluMt o& wxed \9&

Arrange the containers according to lhe

least——»most

(1) W Y. X Z-

@2 i WZXY

(3) _Y.X
(9 [_ZX

17
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Erika set up the followmg experiment as shown below. She wanted fo identify the
material that she should use for the cuitains in her house in order to block out as

much sunlight as possible.

material ~ torchlight

retort stand

box

| J

data logger 1 ‘ ;LJ:B
: T :] | L |

Each-time she conducted the experimeat, she used a different matet}lal t9.cover
thé opening of the Box. The datalogger-was then turned:on once the: tordﬂ'ght
was switched on. The following table showed.the results captured by the data-
Iogger when different matenals were used

Material | Amount of light measured by
____the datatogger (lux)
W . 157
- X _ 204
Y 423
V4 120

Which one of the above materials is the best for her to use for the cdftéins?

1y w
2 X
3 Y
4 <




-24_ _ Study the photograph of a dancer in the diagram below. -

curtain

shadow

faith saw the photograph abo.ve'.;ind inac_le the fé!lgjwiqg conglusions: :

The light.source is coloured.

The light source is very bright.

The light could not pass through the dancer

There are more thah one Tight sources shining on the dancer.
The dancer is closer to the light source than she is to the curtain.

mooo>

Based only on the photograph, which of her statement(s) are true?

() BandC only (@ A, BandDonly
() ADandEonly ) AB.CandE

19



Study the graph shown below and answer questions 25 and 26.

Four different-springs, W, X, Y and Z, had different weights trung on them and their
extensions were recorded as shown in the graph below.

Extension (cm)
A

14t W

25. Based om the graph arrange the springs from the one that extended the most to
‘ the one that extended the least .

most —rleast

(1) W, X.Y.Z
(2) W.Z X, Y
@3 | Y.XZW
4) ZY X W

26.  The original Iength of spring X was 6 cm, what was the iength of the spring when
a mass of 30° grams was hung on it?

(1) 6 cm
(2) - 7cm
3 12cm

(4} 15 em




27. Study the diagram below. The box was being pushed up a ramp. Steven labelled
the possible forces that were actmg on the box

il

Which of the following correctly identifies forces A, B and C?

A B —C

() Pushforce . | Frictionalforce | Gravitational force

(2) .| Frictionalforce. Pushforce . | Gravitationaifarce
3) Pushforce | Gravitational force Frictional force
(4) | Gravitational force - |  Frictional force . ~ Pushforce

21



28. The diagram below shows Jordan playing table tennis w:th his sister. When the
ball came towards him, he swings his arm and hlts the ball. : .

Based on the above setting, which of the following statemeﬁts are co_rrect"} :

A Jerdan exerted a pull force on the table tennis bal!
B Jordan exerted a force to change the direction of the table tenms
- ball.
- C The grav:tauona! force acting on the ball changed as lt moved
towards Jordan,
D There was frictional force when Jordan's bat came in contact with
. the table tennis ball. '
(1) AandConly | @ ‘BandConly
(3) BandDonly (4 "A,BandD

22




29.. The diagram below shows a street lamp powered by the Sun. During the day,
energy from the sun is collected at panel X and stored in panelY. At night, the_

lamp is switched on by a sensor using energy stored in panel Y. -

. Which one of the following shows the correct energy conversion when the street

famp is switched on at night?

(1
2
3
(4)

solar energy — light energy + heat énergy

© solar eriergy — ¢lectrical energy Ifght energy

-chemical potential energy — electrical energy — light energy

. electrical energy — ,lighf energy — chemical p.oténiiél energy

30. Which of the following are examples of fossil fuels?

Coal

Crude oil
Cooking oil
Naturat gas

B-and C only - (2) A, BandDonly -
B.-C and D only S ~-(4) . .A,B;CandD

.23
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Section B {40 marks)
Write your answers to questions 31 to 44 in the spaces provxded
Marks will be deducted for mtsspelt key words.

31 - Stacey placed two healthy white mice separately in clear, plastic tanks.
- Each tank contained a test-tube of limewater. She added an exercise wheel in
- the tank for set-up Y.

fimewater

" exercise wheel

Set-up X. | o Set—qu

Stacey observed that the limewater in set-up Y turned chatky eariier than the one
in set-up X. Explam why the limewater in set-up X took a longer time to.turn

chalky. _ _ 21



32. 7 Study the flowchart below showing 2 processes that take place during plant
- reproduction. _ .

- -
-

Reprodut;ﬁ'qh in
Flowering Plants

[}
Pollination
4

Process B

(a) ldentify process B. State what happens during this process. {1}

(b)  Inthe table below, fill in the correct ﬂower parts matching the changes

that take place after process B. : i1
" Part of flower - Changes:occurring after
‘ : Process B
{i) | . o falls off
(ii) becomes the fruit
(i) - | - | become ihé seeds of the fruit

(¢} Ltst two characteristics that help flowers to attract insects for pollination.

[1]
0]
(i)




33. _Kai Yin observed three cells, A, B and C,. under the microscope and recorded her
observahons in the table below.

S 7 Cells
Cell Part _ A - B n C
Nucleus __present ‘ “absent present
Cell wall " present absent absent
Chloroplast , __present . absent absent
Cell membrane present present present

(a) Based on hecobservations, what are two possible functions that cells Aand C
can periorm bul not celf B'? 1]

{b) Which of the above cel!(s) lsfare llkely to be an animal celi? Give a reason for
your answer. - - , _ (1

{c) Other than having a cell membrane, cells A, B and C have angther comman celf
part that is not stated in the table. Name this part and describe its function.
' L : {11




34. Da Ren set up an experiment using 5 pots of simitar plants and placed them
under different coloured light for the same period of time. Each pot contaioed the
same type and amount of soil and was given the sarne amotnt of watér. He
measured the mass of the plants at the start of the e expenment and agam at the

" end of the experiment.

The table below shows the sesuits of the experiment.

. Mass of Plant (g) x
Pot Colour of Start of End of - Gain
‘Light Experiment . Experiment a
J Red 1.1 ‘ 4.7 ;. 386
K Blue 1.0 4.9 1 - 39
L Green . - 1.0 o 1.7 : 0.7
M Yellow 1.0 , 30 - 2.0
N Violet 1.1 33 - 2.2
(a) What was the aim of his experiment?. ‘ - 1

(b) List one variable other than those stated in the questlon that- he must keep
constant in order to conduct a fair test. T I1]




35.  Aphids have a specialized mouthpart, called proboscis, which they use to pierce
into the food-camrying tubes in a plant stem as shown in the diagram below.

—

food-camying tube
head ——proboscis
h:-“:-_:'
. = legs
aphid ]
. —;—stern
Z .
A
Z

(a) = Statethe food that the aphids are (-Jbtaining from the food-carrying tube.
(1]

(b) - Aphids are fouhd_ to feed off ptants more often during the day than at night.
Give a possible reason for this behaviour in relation to plant processes.

{1

{c)  Aphids feed on tree sap just fike female mosquitoes feéd on human,
blood. : .

Identify the part of the human body which is similar to the food-carrying
tube in the plant. Explain your answer. : (1]




36. - Ruihong planted a seedfing. He weighed the seed leaves and measured the

-

height of the seedling dally . -

seed leaf

@@ Draw a line on the graph below to show the pattern that he should
observe about the re!atlonshxp between the mass of seed leaf and the

hetght of the seedling. - o I

>
(.

mass of seed leaf (g)

4

height of Sgédling {cm)

(a) i}y Describe-and explainyourgraph. .- . (1




(b - wa"d'oe's‘ plant K bénéﬁffrdiﬁ :Iisviﬁté'raCiion; with the chimpanzee?:

The pilcher piant grows in nuirient-deficient soi; It has been observed that a
small mammal known as a shrew. visits the pitcher plant ofien. The shrew feeds
on the sugary nectar from the pitcher-plant and leaves behind its droppings.

- "

shrew

pitcher plant

(@)  How do the pitcher plant and shrew benefit each other through their

interaction? : {1}

Chimpanzees in Nigera often get infected with parasites which attach to their
intestinal walls. The chimpanzees have been observed to swaliow many large
seeds of plant K. As these seeds pass through their intestines undigested, they
remove the parasites by dislodging them from the intestinal walls.

- chithpanzee

mn

-

-



38. The fo!!owmg information shows the relationship between seven organisms (A, B, -
C,D, E, Fand G) of a community. . - .

Organlsms Aand B are the food producers and organism C feeds on both
of them.

Organism D feeds on organisms E and F.

Organism E feeds-on organism A while organism G feeds on organism B,
Organism F feeds on organisms C and G.

Construct a food.web using the information above. The position of

(a)
organisms A and B has already been drawn for you. [2]
A
B
(b) How will the population size of organism C be aﬁecled if the populatlon of
: ““organism G is reduced? Give a reason for your answer. P A
(c) Whatis the relationship between organisms C and E? _ {1




The graph below. shows the percentage of digested food inside a person's
digestive system. W, X, Y and Z represent different parts of the digestive system.

r 3

percentage of food
digested (%)

__m-_l

patW part X partY partZ

(@ In the table below, fill in the corresponding paris of the digesti\ke system
with either pat W, X, YorZ . [}

Parts of fhe d'igéstive system - Part

Mouth

Stomach

(b) Identify Part X and explam why the amount of dlgested food in X remamedf
‘the same as in W. : M

19



40.

Nelson found an-old faboratory thennpmét_er and notigegfi that ali the markings on
the thermometer had faded. He'knew that the laboratery thermometer was
capable of measuring temperature below 0°C and temperatures of up to 120°C.

. The thermometer is as shown below, _

Using the items provided bé!ow; list down the procedure needed for him to
replace the markings on the thermometer as accurately as possible, so that he
could use the thermometer again. .. {3]

" ltems provided:

« bunsen burner

o beakers
« ice cubes
e long ruler
« pemanent markers
Steps | Procedure
1
2
3

4 Repeat the experiment at 'le'ast 3 ﬁmes to enstire the resulfs are
reliable. ' o : : e




41 Jane sef up the expérirheﬁt below to find out if the properties of the objects she
used have an effect on the shadows that were cast. All the three objects, A, B
and C, are tnangles of different sizes with their bases aligned.

forch

onqmame a |
, =

P i

screen

: :\height\

[

Side view of the éxpérimentéi set-up.

k———— base ——— !

Front view of each friangle

The properties of the objects she used are as shown in the tab!e below.

-1 Object | Base{cm) | Height(cm) | Characteristic
A 10 4 . | Transparent
B 10 7 Translucent
c 10 5 Opague

. {a) State one condition -of the environment that Jane should ensure when she
carries out the experiment.

{b)  In the space provided below, draw the shadow(s) that is rﬁos_;i likely to
- appear on the screen-when she switched on the torch.-Include the

measurements and description of the shadow(s).

2




In countries that experience winter season, speclai boards are used to brmg
frozen food to room temperature quickly. Michael set up the.following experiment
to find out which material was suitable for making these special boards. He
placed an ice block on each of the boards and used a stopwatch {o note the time
taken for the ice blocks to meli. The experiment was camed out under SImiIar
conditions.

ice block

special
board

Setup A . SetupB

In set-up A, the special board was made of aluminium and in set-up B the spemal
board was made of wood. The specnal boards and the ice blocks were of sirnilar

" size.

(@i} In which set-up would the ice block melt first? _ _[1_1
)  Explain your answer in (ai). (1}

13




Michael only had onestopwateh 'He measured the fime taken forihe loeto tmelt

in set-up A and recarded the restift in the table below. He nnmediately repeated

the experiment a second fime using an ice block of s:milar measuréments on the

sameboard

Time taken (Secdnds)

Number of attempts on set up A
- 1st 76
2nd ?

) i) Based on the mfonnatlon in the table above, predict the time taken for the

2“"|cecubetomelt. _

[1]

ii) Ekpléin your answer in part (b)(i).

L

14



43. Tom setup an experimeaqt using a beam balanoe as shown in d:agram 1 below.
The unknown ob]ect was balanced usmg a magnet as shown i in dlagram 2.

- -

—

- R - ) . ) ] . n . -
. __—E—F ‘ —
' : clamp i
100g . magnet— -
weight  unknown object 100g 41 retort
wesghlt o _ stand
1 unknown
R
Diagram 1 ' | _ "Diagram 2

(@  Ondiagram 2, name and draw the dlrecttons of the forces that are acting on the
unknown object. _ [21

(b) Suggest a possnb!e matetial that the unknown object could be made of, Explam
| YOur answer. ]

5




44.

In the dlagrams below, figure 1 shows a portion of a roller coaster ride in an
amusement park. During the ride, the roller coaster makes a complete turn. A
simplified diagram is shown in fi gure 2. -

I part X

Cexit 7

figure 1 ) lgure 2

(a) Name the form(s) of energy that the roller coaster possess at pomt X. - 1}

(b)  Explain the energy conversion that takes place as lhe ride enters and exits
. the loop. [2]

o)  Suggest a possible madification to the coller coaster lo enabie the ﬂde to.
enter the loop at a h:qher speed. . [1]

~ END OF PAPER~
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31)The mouse in Set-up X was not exercising so the rate of respiration is
slower than Y and less carbon dioxide will be produce to take a longer time to
turn limewater chalky.

32)a)Fert|llsatlon. The male cell in the pollen grain fuses with the female egg
in the ovule. .

'b)i)Petals ll)ovary lu)ovules

c)i)Sweet scent. .  i)Bright colours.

33)a)Cells A and C undergo cell dmsmn. They can dontrol all activities in the
cell. . : -

b)Cells B and C are ammal ce!ls as they do not have cell wa!ls which only
plant cells have.

c)QtopIasm. Most oell actmttes take place.in the cytoplasm.

34)a)Itwasto ﬁnd out how the colour of light affected the growth of the plant. -
b)Bnghtness of the llght
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35)a)Sugar. ' ‘
b)Plants photosynthesise in the presence of light during the day so there
- will be more glucose in the food-carrying tube for the aphids to feed on.
-€)Blood vessel. Blood vessel carries blood which containsdigested food. - -
A . !

36)a)i)

=
Lt

ii)As the seeding grows, the seed leaf will be eirehtually used up, thus
seed leaf being useless after the food has been used will drop onto the ground

37)a)The shrew will benefit as the pitcher plant provrdes food for the shrew
The pitcher plant will benefit as the shrew will provide drOppmgs whlch
provide nutrients for the pitcher plant.

b)The chimpanzee disperses the seeds of plant K when it eats and passed
out the undigested seeds. N

38)a)A———*E\

l'B/C\l
~ac—

b)Populatlon size of C will decrease If populatlon of Gis reduced orgamsm
F will feed more on C. S

c)They are competitors for food.
39)a)Mouth : Part W.
Stomach :PartY.

b)Part X is the gullet. It does not have any dlgestwe ]uloe to ‘carry out any
dlgest:on
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40)1)Put the thermome_’ter in a beaker of ice and make a marking on the
thermometer as 0°C, L - U - )
2)Heat the beaker of ice over the bunsen burner until the water oils Mark
1090T onthe thermometer., . . . _ _ : : '
3)Use the 16ng ruler to measure the distance betweéen the 9T and 100
Mark and divide the distance equally for interval-of 10cC. - '

41)a)Dark room.
b)

light shadow

Dark shadow

42)a)i)Set-up A. - S
i)Aluminium is a better conductor of heat then wood so heat is.
transferred from the block to the ice faster to aliow the ice to mielt faster.
b)i)100 seconds. -
if)After melting the first biock of ice, the block is now colder so the second
ice cube will gain heat slower from the block.

43)a)

damp

b o

L ot

100y ) . magnet
welit  gnknown object  © 100g . :
| . weight
: T

Diagram 1 - diagmmz

b)Steel. It is a magnetic matesial that can be attracted to the magnet.
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44)a)Gravitational Potential Energy and Kinetic Energy. S
. - b)When the ride enters the foop; kinetic energy is convertedto . '
gravitational potential energy. When the ride exits the loop, gravitational .
potential energy is converted to Kinetic energy.

" c)Put greason the wheel. - '
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